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What process remove carbon dioxide from the atmosphere?
a) photosynthesis b) Biodegradation

¢) electrolysis d) none of the above

In which option are the crops sown in June July are these to be harvested in
September is given

a) Paddy, Cotton b) peas, wheat

¢) cucumber, watermelon d) potato, onion

What does the term ‘dumping’ referred to?

a) the sale of substandard community.

b) sale in foreign market of a commodity at a price below marginal cost.
c) sale in foreign market of the community, just at marginal cost.

d) Smuggling of goods without paying custom duty.

Replace the question mark with an option that follows the same logic applied in
the first pair.

Bear:Cub :: Sheep: ?7?

a) lamb b) calf ¢) kitten d) puppy

is the oldest o1l field in India.

a) Mangala b) Barauni ¢) Mumbai high d) Digboi

The father of Indian missile technology is
a) Dr. Homi Bhabha b) Dr. Chidambaram.
¢) Dr. U. R Rao. d) Dr. A. P. J Abdul Kalam.

Which Of these is the plant important in sericulture?

a) Cassia b) Legume c) Peas d) Mulberry
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11

The study of heavily bodics is known as
a) astrophysics b) astronauts

c) Astrology d) astronomy

Why is the colour of papaya ycllow?
a) Lycopenc b) Papain

¢) Carotene d) Caricaxanthin

. Monday sale 2200.

Tuesday sale 2300

Wednesday sale, 3250

Find the average sale of Monday, Tuesday and Wednesday?
a) 3300 b) 2200

c) 3250 d) none of the above

Find the amount deposited as interest if I deposit 21,00,000 for one year at the
rate of 8% per annum.

a) 210,000 b) 29000 ¢) 28000 d) 8500

. The Lettuce leaves are__ ~into pieces. They are kept in ice cold water

~_ten minutes.

a) Broken, on b) break, for
¢) broken, for d) broke, during
. The butter ~ melted, Onion and vegetable are —~ in it for three
minutes
a) is. frying b) are, Fried
¢) being, fried d) is, fried
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. Trash means

A three star or a higher rating means
a) that it is a good product.
b) that it will save energy.

¢) That it will be acceptable to both Home as well as Office.

d) used in three star hotels.

a) things used in the kitchen
b) things used in the bathroom
¢) plastic bags

d) something that we wish to throw away.

Turn off means
a) To switch on the light b) to remove the lights

¢) to switch off the lights d) to put new lights

’. Meaning of insipid

a) silly b) angry c) tasteless d) inactive

Meaning of Tepid
a) Transporied b) Enraged

¢) lukewarm d) equatorial

9 A cowherd had 19 cows. All but Eight died. How many will be left?

aj seven b) eleven ¢) eight d) nine
0. Find out the odd pair :-

a) Nice — good b) heavy - light

¢y bufky — fat d) sturdy- healthy
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22,

One of the following is a perfect square.

a) 679 b) 625 ¢) 2700 d) 530

Cloth 1s to meter as Milk is to - —

a) chain b) pound ¢) litre d) pint

23. in a group of 26 person, 15 like tea, 18 like coffee. There is none who dislike both.
The number of persons who like both tea and coffee 15—
a)9 b) 7 ¢)S d)3
24. Find the odd man out:-
a) carrot b) potato ¢) tomato d) beetroot
25. Today is Saturday, What day of the week will be after 27 days?
a) Monday b) Friday ¢) Wednesday d) Saturday
26. When Anne makes soup, she puts one bean for each peas. If her soup contains a

21.

28.

29.

total of 400 peas and beans how many peas are there?

a) 100 b) 200 ¢) 300 d) 400

A vessel contains 180 L of wine. 60 L are taken out of the vessel every day and an
equal quantity of water is put in. what quantity of wine remains at the end of three
days?

a) 53.4L b) 60L c)40L d) none

In a recipe | teaspoon is equal to -

a) 4gm b) Sgm c) 10gm d) 15gm

A cake is divided into 12 portions. If 3 quarters of the cake are caten, how many
portions remain?

a) 10 b) 4 ¢)8 d)3
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. If four women carry out a task in four days, then for the same task, one woman will

take —
a) One day b) eight days
c) twelve days d) sixteen days

. Who is the current president of India?

a) Sri Ram Nath Kovind b) Srimati Draupadi Murmu
¢) Sri Amit Shah d) Sri Rajnath Singh

. Who is the current governor of Tripura?

a) Sri Manik Saha b) Sri Satya Dev Narayan Arya
¢) Sr1 Nallu Indrasena Reddy d) Sr1 Biplab Kumar Deb

. Mughlai cuisine is from which region of India

a) Southern region of India b) northern region of India
¢) north-eastern region of India d) eastern region of India

. Green revolution started in which state of India?

a) Haryana b) Punjab c) Rajasthan d) Gujarat

. Masterchef competition originated in which country?

a) United Kingdom b) Australia

c) USA d) India

What is soda or carbonated water?
a) hydrogen mixed with water

b) carbon dioxide mixed with water
¢) oxygen mixed with water

d) nitrogen mixed with water
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Black pold s the spiee referred 1o
a) ¢innimon ) cordnmaom
C) pepper ) close

38, The salt march in Indin was a protest against the British due 1o,
a) less production of salf b) British salt tax
¢) Indian salt tax d) more production of salt
39 Tripuca is surrounded by in the cast,
1) Assam b) Mizoram
¢) both (a) and (b) d) Bangladesh
40. Maha Kumbh Mecla is organised every years,
a) 3 years b) 6 ycars
¢) 9 years d) 12 years
41, -is known as the “spice garden of India”.
a) Andhra Pradesh b) Karnataka
¢) Tamil Nadu d) Kerala
42. What is the first thing you should do before you start working with food?

43.

a) wash your hands b) measure ingredients

¢) clean the kitchen d) preheat the Oven

Identify the term that describe the amount of serving in a recipe.
a) scale b) portion

¢) yicld d) segment
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~Which of the following following safety procedure can hel

What do you do when you have finished using o knife?

) putitaway immediately

) wash it individually in the sink, rinse it dry i and put it awany
¢) please behind the tap and wish it with other dishes

d) put it in the sink o soak

p prevent burns?

% ¢
a) filling containers, some hot liquid to the top
b) open the Oven door halfvay when removing hot food
¢) wear clothing with loose sleeves?)

d) turn pot/pan handles away (rom the edge ol the stove

At what temperature does water boil?

a) 100° F b) 1801 ¢) 212°F d) 250°F

When a glass is broken, what should be done with nearby Foods?
a) cover it

b) throw it away

¢) Store, until the glass is cleaned up

d) inspected for glass picces before serving,

The deadliest bacterial Food poisoning 15— -
a) staphyloccal poisoning b) salmoncllosis

¢) botulism d) perfrigens poisoning.

Which of the following can neither be created or destroyed?
a) force b) power

¢) momentum d) energy
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33.

h
U

A mixture of sand and salt can be separated by———-
a) sublimation

b) sieving

¢) dissolving salt mixture in water and then filtration.

d) dissolving salt mixture in water and then distillation

The pH of pure water is ——
a)2 b) 6 )7 d) 8

Disagreeable order in oil when it is stored for a long time is due to

a) winterisation b) hydrogenation
¢) rancidity d) neutralisation

Kawashiorkor is a disease caused by deficiency of———
a) vitamin B12 b) copper

¢) protein d) vitamin D

. An outbreak of fire due to electric short circuit is classified as.———-

a) Class A b) class B ¢)class C d) Class D

. BEGK is related to ADFJ in the same way as PSVY is related to

a) LOQT b) ROUX c) OTUZ d) ORUX

56. Complete the following.

Newspaper: Press:: Cloth: ?

a) Tailor b) textile ¢) fibre d) mill

. Which of the following wildlife sanctuary is known for one horn rhino?

a) periyar b) kanha ¢) Kaziranga d) Bandhavgarh
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58. ————is a high source of calcium in daily diet.

a) Milk b) pulses
¢) chicken d) green leafy vegetable

h
o

Arrange the given word in a meaningful sequence.

1. Honey. 2. Flower. 3. Bee. 4. Wax,

a) 1,3.4,2 b) 2,143 ¢) 23,14 d43.201
60. Which crop 1s sown on the largest area in India?
a) rice b) wheat ¢) maize d) sugar cane

61. Largest state in India by population.

a) Bihar b) Rajasthan
¢) Madhya Pradesh d) Uttar Pradesh
62. Three of the following are alike in certain way so as to form a group, which one

does not belong to the group?

a) cars b) hands ¢) fingers d) eves

63. Choose the word, which is least like the other word in the group

a) Zebra b) horse ¢) lion d) tiger

64. Which of the Following dance form means, “story play™?

a) Manipuri b) Kathak ¢) Kathakali d) Bharatnatyam

65. The Panchi- Phoran is a combination of
a) fenugreek, Nigella, cumin, mustard, tenncl
b) cumin, Nigella, Poppy, mace, Fennel.
¢) fenugreek, cinnamon, mace, funnel, cumin

d) cumin. asafoedita, cardamon, charoli, Fennel
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67.

68.

69.

70.

i

Which one of the best statement to achieve success in life?
a) the person should be well educated

b) the person should be rich and prosperous

¢) the person should be sincere and hard-working

d) the person should be honest

GST stands for.
a) goods and supply tax b) goods and service tax
c) general service tax d) goods state tax

Insert the arithmetical sign in the following numerical figures 9 6 3 =27

a) +,x b) -,* e} Xk d) +,-

Which of the following is used in pencil?

a) graphite b) silicon ¢) charcoal d) phosphorus

What does HACCP stand for?

a) hazard Analysis control critical point

b) hazard application control Critical point
¢) hazard analysis critical control point

d) hazard analysis, certification of critical point

FSSALI stands for.

a) Food standards and safety authority of India
b) food, safety, and standards, authority of India
c) food, safety, and standard analysis of India

d) food, safety, and standard association of India
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72. Ghee is equivalent to vegetable fat, so butter is equivalent to————
a) margarine b) oil
¢) Vanaspati d) Dalda

73, Given the ratio in which hydrogen and oxygen are present in water by volume.

n) 1:2 b) I:1 c)2:l d) 1:8

74. From the following, which are an example of chemical reaction.
a) grapes get fermented b) breakdown of food

¢) formation of Curd d) all the above

75. Which acid is present in tomato?
a) citric acid b) oxalic acid

¢) lactic acid dyH CL

76. Lactic acid is present in
a) orange b) Tea

¢) curd d) vinegar

77. A non-metal used to preserve food material is——————-
a) carbon b) phosphorus

¢) Sulphur d) nitrogen

78. Why is biogas considered a good source of encrgy?
a) as it produces ashes
b) as it produces methane
¢) as it burns without releasing smoke

d) as it decomposes in the absence of oxygen
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80.

81.

83.

Which of these process explain the extraction of suns energy to generate energy 1o
light bulb?

a) conversion of electric energy into solar energy
b) conversion of solar energy into electric energy
c) conversion of solar energy into kinetic energy

d) conversion of kinetic energy into solar energy

Which of the following are environment friendly practises?
a) dumping b) Composting

¢) Incineration d) recycling

Which of the following are environment friendly practice?
a) carry a cloth bag while shopping

b) switching off unnecessary lights and fans

¢) walking to school instead of using a scooter

d) all the above

. Biodegradable waste includes

a) aluminium fo1l b) glass bottle

) pesticides d) wood shaving

The most rapidly dwindling natural resource in the world is

a) Water b) forest ¢) wind d) sunlight

. Which of the following is not a natural resource?

a) soil b) Water c) air d) electricity

. Which country is called the coffee bow] of the world?

a) Serbia b) Mexico ¢) India d) Brazil
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88.

89.

90.

91.

The currency of Japan is ?

a) renninbi h) euro

c) yen d) dollar

Which of the following ministry implemented the midday Mill scheme?
a) Ministry of social justice and Empowerment

b) Ministry of home affairs

¢) Ministry of human resource development

d) Ministry of social welfare

Which of the following state is not famous for the Bhut jolokia pepper?
a) Odisha b) Nagaland
c¢) Manipur d) Assam

Which state of India is given the popular name of “Indian bread basket™
a) Punjab b) Maharashtra
c) Assam d) Uttar Pradesh

Which one of the following is a non-biodegradable substance?
a) cotton cloth b) paper

¢) DDT d) Manure

An ecosystem includes?

a) nonliving objects

b) both living organism and nonliving objects
¢) all living organisms

d) sometimes living organism, and sometimes nonliving organism

L)
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92. Replacing plastic cups by paper cups for selling tea on train, maybe preferred
because.

a) plastic cups are biodegradable
b) paper Cups are cheaper
c) paper cups are biodegradable

d) paper cups are non-biodegradable

93. Identify the proper food chain?
a) grass, frog, snake, insect
b) insect, frog, grass, snake
¢) grass, insect, frog, snake

d) grass, frog, insect, snake

94. Acid rain is caused by the oxide of——
a) sulphur, and nitrogen b) sulphur only

¢) nitrogen only d) carbon

95. The blueish colour of water in deep sea is due to?
a) absorption light by the sea
b) reflection of sky in water
¢) the presence of algae and other plant found in water

d) scattering of light

96. 1f the cost price is 95% of the selling price, what is the profit percent?

2) 4% b) 4.75% ¢) 5% d) 5.26%

97. if the cost of 25 Thali is equal to the selling price of 20 Thali, then the profit
percentage 1s”?

a) 20% b) 25% ¢) 15% d)
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A man riding his bicycle covers 150 m in 25 seconds. What is the speed in kilometre
per hour?

a) 25 b) 21.6 c) 23 d) 20

In a college, the ratio of Boys to girls is 8:5. If there is 160 girls, the total number
of students in the colleges is?

2) 100 b) 416 ¢) 250 d) 260

100. What is the standard unit of liquid measurement for length in metric

system?

a) litres b) gram ¢) meter d) kilogram.
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